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20l A 1t 26,022,658 25,535,132 487,526
= 3,098,076 3,089,877 8,199
J| 1,651,701 1,684,595 A 32,894
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= 103,340 103,340 0
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Al 2,658,025 2,428,564 229,461
DFHIOLHETHEHAIE XI& 0 82,235 A 82,235
J| 0 32,894 N 32,894
< 0 14,802 N 14,802
Al 0 34,539 A 34,539
402 212t X201 & 0 82,235 N 82,235
J| 0 32,894 N 32,894
< 0 14,802 N 14,802
Al 0 34,539 N 34,539
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J| 0 32,894 N 32,894
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Al 2,128,780 2,132,080 A 3,300
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Al 19,000 22,300 A 3,300
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< 71,000 71,000 0
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= 124,309 116,110 8,199
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12J1E2a2 124,309 116,110 8,199
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=2 124,309 116,110 8,199
VEASHBHS(2X) 213,930 242,370 128,440




a2 (3A) - NRAY - BYS 0] &b 2 p/E-T HDE2
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